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EXN: 23
B 2QUOHANBENS
el RSN 2E L A CERED
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
St 43,321,120 45,761,297 N2,440,177
= 22,012,354
2 3,499,000
J| 1,845,228
= 3,366,528
& 12,598,010
SIRMAMHEEENS 37,954,990 42,331,297 N4 ,376,307
= 20,722,354
2 720,000
J| 1,845,228
= 3,366,528
& 11,300,880
YIS B2 & dAS 1,309,750 689,000 620,750
= 436,000
== 873,750
2 ISN A0 2= 515,750 495,000 20,750
308 XX SHHSOIH 515,750 495,000 20,750
01 AIXSHMEMNEX= 515,750 495,000 20,750
ORS2e M FsXN2(BRA, =21) 414,600
OREI23M BMEAI S X2 101,150
N2 (23HH) o= XS & 42,000 60,000 A 18,000
308 AMXISHMSOIA 42,000 60,000 A 18,000
01 HXHHIMNEEXTZ 42,000 60,000 A 18,000
OXY23til=(2at/) Mel=y 42,000
IS |AEE = 178,000 134,000 44,000
307 2Iz2t0| & 45,000 45,000 0
04 QIZISH AL X 2 45,000 45,000 0
ORE23M 223 € A& 45,000
308 XAHXIGHSO0|& 83,000 89,000 A 6,000
01 AIKISHHENEXZ 83,000 89,000 A 6,000
OY&IIXNA 2Ctel 2l X3 56,000
OdptBE==0] X & 7,000
O2AF HUAN =2H 10,000
QRN BoH FEES 227 0,000
403 XX SHHS K20 & 50,000 0 50,000
01 XIS A2E X 50,000 0 50,000
ORE 23 dExF HMX EZAY 50,000
SR METDNES LG MY (EX) 574,000 0 574,000
= 436,000
& 138,000
308 XAXIGH SO0l & 54,000 0 54,000
= 36,000




M 23
M PHFUAMATEETS
el RSN 2E L A CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 18,000
01 AXHHBIYEES 54,000 0 54,000
ORE2sM dus2 2435 MY 54,000
= 36,000
< 18,000
403 MHXSHHSA=0l& 520,000 0 520,000
= 400,000
< 120,000
01 XM A=LE L 520,000 0 520,000
ORE=EaMN drus2t 21 520,000
= 400,000
< 120,000
N2 2E2e 31,223,070 37,263,585 26,040,515
= 19,637,420
J| 630,000
& 3,366,528
=) 7,589,122
dEAMEE=FH 4,164,000 2,871,000 1,293,000
= 2,776,000
< 1,388,000
403 MtXSHHSA=0l& 4,164,000 2,871,000 1,293,000
= 2,776,000
< 1,388,000
01 XM A2E X 4,164,000 2,871,000 1,293,000
O&SAHEE =FH| 1,575,000
= 1,050,000
< 525,000
ONSAE SMWAIAE S 2,589,000
= 1,726,000
< 863,000
NLESAE B 335,000 220,000 115,000
403 UHXSHHSA=0l& 335,000 220,000 115,000
01 HXSHMA2E X 335,000 220,000 115,000
OXNLHSAE E+=FH| 55,000
OZAL LIS HHIAY 30,000
OZA~tIEe A=z H| 100,000
OLEHA Jlole 2 2= 150,000
INNEZaM |E2el XA 27,500 20,000 7,500
= 27,500
308 XtXIEHHSOIA 27,500 20,000 7,500
= 27,500
01 HXNHHBHELS 27,500 20,000 7,500
O=JIZaM XY 2FMHL A& 22| 27,500
= 27,500




SA: 28D
HH: ZIRMANABBENS
Sl NZLHW 2= CERED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
NS 23Ul 935,000 550,000 385,000
403 XX S M S K201 A 935,000 550,000 385,000
01 HXHNMAHEBE = 935,000 550,000 385,000
OXYE23HE£=&H| 400,000
OEfot&Fn 2= 50,000
OZEMNE B 75,000
OYALAF EHI 40,000
Onlzen stEA IS 50,000
O&(t&E W A= 35,000
Ogtdds =& &bl 10,000
OExNE &4 A= 50,000
OSSN MIX 2 100,000
OssdFWE Jls2Y 75,000
OZNMNEI JIsed 50,000
SEEANEE FH| 262,500 425,000 A 162,500
403 XX S S K201 A 262,500 425,000 A 162,500
1 AXSHNAEE X 262,500 425,000 A 162,500
OFaZAE=2 HH| 140,000
O8N SEES 10,000
Osa A =8 Ay 22,500
O=ZA H2 HE 50,000
OEEA &EHI 40,000
ANEXNEZSNH 23| 3,917,310 4,095,000 AN177,690
= 3,366,528
= 550,782
403 XXM S K201 A 3,917,310 4,095,000 N177,690
= 3,366,528
= 550,782
01 HXHNMAHEE = 3,917,310 4,095,000 N 177,690
OANEXNE23M E=FH| 3,917,310
= 3,366,528
== 550,782
S ot E48H & T2 HEXE E4+FH| 21,000 38,000 A 17,000
403 XX S M S K201 A 21,000 38,000 A 17,000
01 MXHHAE2BE = 21,000 38,000 A 17,000
OEXEE2SM ot & T2 T XE &K 21,000
ZstiHEE 22 X 21,460,200 25,326,229 N 3,866,029
= 16,768,400
J| 630,000
o= 4,061,800
307 212t0| & 1,050,000 636,558 413,442
Dl 630,000




2N
X ZH -
L= B

el

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 420,000
02 BInHFAEXS 1,050,000 636,558 413,442
O3 &Aelgsad 1,050,000
| 630,000
< 420,000
403 XXM S X201 20,410,200 24,689,671 A4,279,471
= 16,768,400
< 3,641,800
01 XXM A=2E = 20,410,200 24,689,671 AN4,279,471
OIZNXNEFZ3M 2+=FHl 13,222,700
= 10,883,400
< 2,339,300
O2HXNE SE23M E+=FHl 217,500
= 145,000
< 72,500
OLEEE ¢ SHMY(SF=.20) 6,970,000
= 5,740,000
< 1,230,000
D0t =JH01E LDl AL 79,560 96,556 A 16,996
= 65,520
< 14,040
403 XAXISHM S K201 A 79,560 96,556 A 16,996
= 65,520
< 14,040
01 XM A=2EE 79,560 96,556 A 16,996
O1It= =Jt01d 2UIIAL S 79,560
= 65,520
< 14,040
EHMAAE L XA =2 21,000 28,800 A7,800
201 Let24d] 21,000 28,800 AT,800
01 At 2teltl 21,000 28,800 A7,800
O=satMeda &4 & JXNEZA =& 21,000
N 2st&EY 1,478,794 1,377,994 100,800
SHIAMEZEI 224 1,458,794 1,377,994 80,800
306 243 1,458,794 1,377,994 80,800
01 &= 1,458,794 1,377,994 80,800
OS2I 2Y 1,377,994
OFEEZFIGAZ 29 60,800
OAOtEDOIE AX] 20,000
A0 SE9A s &Y 20,000 0 20,000
307 gl2tol & 20,000 0 20,000
02 It NEXS 20,000 0 20,000
OZaL= SEIAAMNNZEHUE 20,000




= _ — d =
HE - B (3H) - KISAY - BYS 0l &t o il HImEET

FRAES FHIE & &2 1,214,834 1,026,603 188,231
= 388,934
2 720,000
< 105,900

2oHd 2208 XE 720,000 920,000 A 200,000
& 720,000

403 UHXSHHSA=0l& 720,000 920,000 A 200,000
& 720,000

01 HXSHMA2E X 720,000 920,000 A 200,000
O2EANME dSHA IS4 X 720,000
& 720,000

EMEE =AY X3 458,900 59,500 399,400
= 353,000
< 105,900

308 XXl ©HAI S 0 & 458,900 59,500 399,400
2 353,000
< 105,900

01 AXHHBIYEES 458,900 59,500 399,400
Odd 23t At 266,500
= 205,000
< 61,500
Odltsres M, S ESAY 192,400
= 148,000
< 44,400

MBI MHEIAZ0F SAUZ2RRA A 10,934 22,103 A 11,169
= 10,934

308 XXl A S 0 10,934 22,103 A11,169
2 10,934

01 IXNHHBNEES 10,934 22,103 A 11,169
OMEINHEIAZ0F SA2FRF 1A 10,934
= 10,934

Ao I=SHAL THE ZHI 25,000 25,000 0
= 25,000

308 XtXIEHH SOl A 25,000 25,000 0
= 25,000

01 X HHILEES 25,000 25,000 0
OXtH s ot QIS AL THE S I 25,000
= 25,000

2o BHAE 2= 1,838,542 1,544,115 294,427
J| 1,215,228
< 623,314

SEEI2SHM ZAI S B X ALY 778,392 587,020 191,372
J| 518,928
< 259,464




M 23
M PHFUAMATEETS
el 2 LHAIE 2= (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
308 XXM SO0l A 778,392 587,020 191,372
J| 518,928
= 259,464
01 IXNHHBNEES 778,392 587,020 191,372
OSSN 2A2E BiX 778,392
J| 518,928
< 259,464
SLSXIEAMEMAELRSXH 663,375 425,000 238,375
J| 534,250
= 129,125
403 XSS X201 & 663,375 425,000 238,375
J| 534,250
< 129,125
01 AXSHMA2E = 663,375 425,000 238,375
OSSN EUAERS 663,375
J| 534,250
< 129,125
EXNE2 M SIHAIE 2SS 200,000 350,000 A 150,000
403 MHXSHHSA=0l& 200,000 350,000 A 150,000
01 HXSHMA=LE X 200,000 350,000 A 150,000
OEXNEZISM LMHAIE 2= 200,000
SRSXEM a2 9 NF 2 dWMAE & 196,775 182,095 14,680
A2l
2l 162,050
< 34,725
308 MtXIEHSOIH 196,775 182,095 14,680
J| 162,050
< 34,725
01 HXNHHBHELS 196,775 182,095 14,680
OS2t M gtz 9 N £ 2
ANE S22 196,775
J| 162,050
< 34,725
HA S STHZ=2 890,000 430,000 460,000
= 260,000
< 630,000
HHEE MASLE SHE=X 575,000 430,000 145,000
= 50,000
= 525,000
306 =43 575,000 430,000 145,000
= 50,000
< 525,000
01 &= 575,000 430,000 145,000
OHHMFEAASLE STH XN & EE 575,000
= 50,000




2AMd: 23Dt
B 2QUOHANBENS
el NAsA SHEX (9 ® =)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
| < 525,000
ELAME(8=2 M) MASA STHEX 15,000 0 15,000
= 10,000
< 5,000
306 3 15,000 0 15,000
= 10,000
< 5,000
01 &3 15,000 0 15,000
Ost=29 M NAHs4 M =& 15,000
= 10,000
< 5,000
N EANAHR LS TH =2 300,000 0 300,000
= 200,000
< 100,000
306 243 300,000 0 300,000
= 200,000
< 100,000
01 &3 300,000 0 300,000
OMgaiet 20 HAHRL SH =X 300,000
= 200,000
< 100,000
2ot g 5,307,500 3,430,000 1,877,500
= 1,290,000
& 2,779,000
< 1,238,500
EH(JIS)R LIS BEMNY 2,030,000 14,000 2,016,000
= 1,290,000
< 740,000
JIsRuUIs RFA 330,000 14,000 316,000
= 290,000
< 40,000
307 21201 A 40,000 0 40,000
02 2t EXS 40,000 0 40,000
OsHIIsRs =4 A= 40,000
308 XXM S0 A 290,000 0 290,000
= 290,000
01 HIXNHHBNEES 290,000 0 290,000
OX&elte A=Al 290,000
= 290,000
JlsRuelzsxy 200,000 0 200,000
306 243 200,000 0 200,000
01 &3 200,000 0 200,000
OJIsRuelEs &g 200,000
SERUESE AE 1,500,000 0 1,500,000




EXN: 23
2 HY
o9l: EH(DI5)RLSHA SN (cho|: M 8)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 7,000,000
= 500,000
403 XX SHHS K20 & 1,500,000 0 1,500,000
=2 1,000,000
& 500,000
01 XIS A=Z2E X 1,500,000 0 1,500,000
OEERUESI 1Y 1,500,000
2 1,000,000
= 500,000
2, B0 9ANR2IEA =S 2,042,000 2,916,000 A 874,000
2 2,042,000
2F 20 AR A =S 2,042,000 2,916,000 A 874,000
2 2,042,000
403 AIXSHME X201 N 2,042,000 2,916,000 A 874,000
2 2,042,000
01 MXSHHXNEE X 2,042,000 2,916,000 A 874,000
OZ2F, B0 9AEST A =4 2,042,000
2 2,042,000
LHZ 233 e 560,500 0 560,500
= 287,000
& 273,500
HESSIAREEY(ZEXEH) 560,500 0 560,500
2 287,000
& 273,500
403 XX SHHS K201 & 560,500 0 560,500
2 287,000
& 273,500
01 XIS AS2E X 560,500 0 560,500
O SHE K& Al 160,000
2 160,000
OetE Xl =082 HE 190,500
2 127,000
= 63,500
OetE Xl s0l&8=2 HE & 210,000
SHGNTARSE AL D] 675,000 500,000 175,000
2 450,000
= 225,000
EUDCAURS Fa2I AL 675,000 500,000 175,000
2 450,000
= 225,000
403 XX SHHS K20 & 675,000 500,000 175,000
2 450,000
= 225,000
01 XIS A=Z2E X 675,000 500,000 175,000
OEHDNT A2 A 675,000




2N
X ZH -
L= B

el

BB - Sl (31) - NRAY - BES il 2
& 450,000
< 225,000
e AU (23 Dt) 58,630 58,630
2l 58,630 58,630
=3l 58,630 58,630
201 £B-2dH| 26,600 26,600
01 At 22l 26,600 26,600
ZSHY HRFA 26,600
202 o4dl 26,180 26,180
01 = LH o4 1l 26,180 26,180
O=2 M =& 26,180
203 YR =] 5,850 5,850
03 AIBZ=XH I =AY 2,850 2,850
OAH#Z=AHS =AY 2,850
04 FN2ELRZTH| 3,000 3,000
O =22t 3,000




